EAGRAROBREERT — 2 N— ABISH —F

202058H6H (K) 10EIEMH2H

m C3m ¥5%3m®L (xwlw | mEmml - |5 @) o s
[xE£] 1 %:350,000F  2#%:98,000™  3#%&:49,000 M  43%&:35000MH  53#:28,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. . 7 | MEAF 1:34. 4-4-4-4 | M. - ABRE= (ER)
1 3| TLtEy bIXT> e 54.0 (3_)6 8 6 fg) ) F—ILYARZ MES
LA=JRA X4 B:aghTI R Il R
o o < 43 | FH— 1:34.9 5-5-5-5 | 41.7| — 3 509 |FuERE (EH)
2|5|5|NX7TF KhAH— 55.0 (1 3/4) (+14) ?E’jll)‘%é?—
R:gh—9 B:RU—LREH HE4S
. . TR . 00— - LEFHaL (FEkR)
sl s o7 roaL— i | o0 T R R A+
RixyUgTdyEk BiHIEIZ LA AREG2—T7—LI
N SN AEE : -1-1- - FigaE (FEk)
al1l1|o2vsvanse o4 s 1.(325).2 1-1-1-1 | 43.1 1 (5:)3 ot |
L:IMA2>77v2a2 BiEYI—-ANTFX hid  HEER
. R R+ .35. 03 . — KEEXR (FEH)
5 4|71 =VT7— i3 54.0 (11 315/25) 2eEs e ° (‘_1?2) BEEN
L:boH7—IK B:O-5>F1453 ellke
= FEBX :36. —7-7- X = =&y (BHA
6 6 Frl)—XF4 R 4 3 54_[)* 1(356)3 7-7-7-6 | 42.3 8 (4_113) /J\;%i;:i(
L:FzV—9U59> B:¥auIJdLAR BEE77—L
= > £ 3 | AKX 1:36.4 9-9-8-8 |42.0| — 4 466 | FIEAE (ER)
71717 FTLZF—H L - 55.0 (1/2) (+1) %ﬁﬂ?i
L:x2F F:JUIFO- AR Heh 82
SRVED 4 8 | EiEE— 1:36.8 6-6-6-7 |43.3| — 7 458 | TBARE— (FfH)
8|8l10| ¥ANYI 56.0 21/2) (+a) | A
R:7T59v78%Y—K B:J)-ELZXE— faa=xie”]
. — HiTE® :37. -8-9- . — FigiE (E)
glglo| KU—LF—T7 it 6 one 1(337)3 8-8-9-9 |42.8 10 (4_829) el
LUV EYSYRIZ B RU—LEy b EYa 77— L
N JIRE— :38. -10-10- X = IEH (EH)
10 o | ET>TIRLZ i 3 A 1(388)7 10-10-10-10| 43.6 9 (4::; ;/gﬁgim
R:T7HAF LT BiL—TRFIRILZ B 77—54
® 1 —F—@EBIERL
1T=7r= 1,4,8,3,5,10,6,9,7,2
23— — 1,(4,8),3,5,10,6,9,7,2
Ja=9= 1,8,4,3,5,10,6,7,9,2
43—+ — 1,8,4,3,5,6,10,7,9,2
[ /N
B 3 1,880 714K 3-5 680F e E 3-5 4,820/ JEE 3-5-8 3,870
B B 3 250H 3-8 520M B = 850 3,570H 3EE 3-5-8 36,460
5 130M4 5-8 420M B H 3-5 11,610
8 1909

ARICOVWTRDTEEERROODE. TR LI,



